m Graph an equation in point-slope form

Graph the equationy + 2 = %(x -3).

Solution

Because the equation is in point-slope form, you

know that the line has a slope of % and passes
through the point (3, —2).

Plot the point (3, —2). Find a second point on
the line using the slope. Draw a line through
both points.

\/ GUIDED PRACTICE = for Example 2

2. Graph the equationy — 1 = —(x — 2).

lm Use point-slope form to write an equation

Write an equation in point-slope form of the Ay
line shown. [ 1INl
| (=1,3)] |-
Solution nEne wn _
STEP T Find the slope of the line. < : >
mz)’z_y1_3*1:i:_l [T 11 \
-2

X,— X, —1-1

STEP2 Write the equation in point-slope form. You can use either given point.

Method 1 Use (-1, 3). Method 2 Use (1, 1).
y—y, =mx—x) y—y, =mx—-x)
y—3=—-(x+1) y—-1==-x-1)

CHECK Check that the equations are equivalent by writing them in
slope-intercept form.

y—3=—x—-1 y—1l=—-x+1
y=—x+2 y=-—x+2
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/ GUIDED PRACTICE = for Example 3

3. Write an equation in point-slope form of the line that passes through the
points (2, 3) and (4, 4).
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